
165 
sample 

uestion per 6 

Dr 

Calculation of the Stationery Consumed during the Year 

ANSWERs 3 

Particulars Amt ( 
Opening Stock of Statonery on 1st Aprl, 2013 

(+) Amount Paid to Credtors 

Advance Payment fcr Stationery on 31st March, 2018 
Creditors for Stationery on 31st March. 2019 

7.500 

17.C00 
1.b)&o0 40 000540 0U= 6.000 

debentures 

500 
Hint Number ot debanires 

issu 100-10 
20. 1 600 

27 600 
2. (b) Recects and pzyments 

-Creditors for Staticnery on 1st April, 2018 

Advance Paid for Stationary cn 31st March, 2019 

Closing Stock of Stationery on 31st March, 2019 

(5.500) 
3 (Cprate pavemet 
4. (a) Bana AC 

D 2.60 000
(1 200) 2.00.000 

(10 200) 60,000 .500) To Zs Captal Ac 
Stationery Consumed to be Debited to Income and Expenditure Account 17,400 

o Premium for Goodw AC 

(40,00000 
S00000 

Soo000+20.00.000)- 

ac0.000 
60,00,000 

= 10.00,00 

5. (d) Capal Resenve 7 10,00.00 
JOURNAL 

15. 
Hint =Assets 

Liabiities 
-

Purchase 

Consideration 

Particulars , LF Amt (Dr) Amt (Cr) 
Date 

2020 
10.00,000 Cash/Bank A/c 

To Vikas's Capital A/c 

To Premium for Goodwill A/c (WN 1) 

(Being share of capital and goodwill is brought by the Vikas in cash) 

Jan 8,00,000 6. (c)Receemabie preterence shares 

2,00,000 
7. () Subsenpton A'c 

To Income and Expena:ture Ac 

Dr 2,00.C00 
s. (C) AD cf these Jan 1 Premium for Goodwill Ac 

1,00,000 To Rahul's Capital A/Nc 
9. (c) Cash and cash equivalent 

= i 40,000 

1,00,000 
To Modi's Capital A/c 

10. (a) 12.000 debentures 

(Being brought amount of goodwill is distrbuted between sacricing 
Hint Purcthase Consideration = Net Assets = 

2240.000-400.000

= 18,40.000 partners in 1 1) 

4,00.000 pad in cash and balance of t 14,40,000 by issue of debentures at premium. 

No. of debentures issued= 

50,000 
50,000 

Dr Rahul's Capital A/c 

Modi's Capital Ac 
Jan 

Dr 
1440,00012000 debentures 1,00.000 

120 To Cash/Bank A/c -1 

(Being goodwill (Half) withdrew by the sacrificing partners) 
11. Purchased 

12. 30.00,000 Working Notes 

Hint Paid-up share capital = 30,000 x 100 =7 30,00,000 

Share capital is always calculated by nominal value not added premum. 

In this question, both capital amount is same, because of no calls-in-arrears in this question. 

1. Average profit of last 3 years = DOD00+ 800000+ 1500000 3000000, 
3 

2 Goodwill of the firm =Average profit x Number of years' purchase =10,00.000 x 1 =?10,00,000 

Vikas's share of premium for goodwill = 1000000x=72,00,000

13. Funds which are received for ary spacific work are known as specific fund/donations. Specific fund which is 

received by a NPO is the liability for that organisation. It is presented in the liabilities side of the balance sheat 

Receipts and Payments Account 
for the year ending.. 

5 

Profit and Loss Appropriation Account 
Cr I6. 

4. for the year ending 31st March, 2019 
Dr 

Dr Particulars Amt 

Receipts Amt Payments Amt Particulars Amt

2,72.00 By Net Profit as per Profit and Loss A/c 3,75.000 
By Investment Purchased To Interest on Capital A/cs 

By Interest on Drawings /cs 

X (40.000x 6/100x 6/12) 
Y (30 000 x 6/100 x 6/12) 

To Balance b/d 68,00 12,000 17,000 By Rent Paid 

85,000 By General Expenses 
5,61,000 By Postage and Stationery 

1,19.000 By Courier Charges 

Cash in Hand X (2,00,000 x 6/100) 1,200 

73,100 9,000 21,000 900 Y (150,000 x 6/100) 

To Reserve Fund A/c 
Cash at Bank 6,800 35,610 

To Subscription 3,400 To Profit Transferred to Partners 

Capital AcS 
To Donations 

8,500 
By Sundry Expenses 1,60,245 
8y Balance c/d 1.60,245 3,20,490 

3,77,100 
40,800 3.77,100 

Cash in Hand 
3,09,400 

Cash at Bank 

Note In the absence of date of drawings, interest on drawings has been calculated on an average basis for 

6 months. 

(Balancing figure) 

7,82,000 7,82,000 



ncy ClossTa le Question Paper 6 
167 

iSucceed Accountancy 

166 Income and Expenditure Accaut for the year ending Fund Expenditure 
Caleulatio of Amount 

Transferred to 
Resenve 

Stmibutabie 
profits = 

Proit+ 
interest on 

drawngs 
-

interest 
cn 

csod 
ta Wariing Niote 

Amt Amt To Salary 
(-Outstandmg tor Prerous Year 

income 
Sy Sucscroo 
-Oustandrg for 

2.74.000 6900 
*ToUnt 

t'ansferred to resene 
fund= 356.100 x 

D 

In the Books of 
Arihant & Co 

JOURNAL 

3.75000 
200 

900- 
12000-9O00 = K356 100 

7 500 Preioss Yez 84000) 
(+)Outstanding tor Curent Year 

2.350 53 BT0-Osandng for 
90.000 

LF Amt (Dr) Cret Ye 23,000 7.13.000 

46.000 
Aml C To Eectricity Expenses 

To Tournament EpeTses 

To Traveling penses 

To Meeting Expenses 

Rent 

6900 B Dorations 
27.600 
23.000 

Particulars 
Date 95.000 

2019 
13300 Bank Ac (tao0x 95) To 

To Periodicals (66,700 43,700) 
To Printirg and Stationery 

To Postage 
To Surplus, ie. Excess ci Incaome 

over Expenditure 

Apr 1 
41,430 

To 12% Debentures At 
23.000 

Dr 95,000 
34300 Seng 1000O. 12% 

debentures 
issuad ar 5* dscoUn 

15,000 9200 1 
2% Debentures Ac 

Loss on issue of Debentures Ac 
1,00.00 5.19 800 To 12% Debentures A/e (10000x 10 

10 55 79.000 7.59.000 To Premium on Redemption ot Debentures A/c (10000x 

Adjusting Journal Entryy (eng 
debenure maney due wth the terms of issue and redemipton) 

19. 0 

2020 10.000 Date Particulars Dr 
P's CuTent A/c LF Amt (DAmt Cr Mar 31 Secunites Premum Reserve A.c 

Dr 2.000 
To R's Current A/c D .000General Reseve Ac 

Dr 3,000 Being the interest on capal wrongy proviced, rou austeo 
1.000 

Statement of Proft and Loss 

15.000 To Loss on issue of Debentures Ac Working Note 

(Being less on issue of debentures is written-oT completely in same 

year 

Adjustmet Table 
Particulars 

R Total A Amount already Recorded 

Interest on Capital10% 
Share of Proft (36,000 30,000) in ratio oi 1:1:1 

Working Note 
Loss on isSUE of debentures = Discount on issue of debentures+ Premum on redemption of debentures 

5.000 
2.000 

10.000 
2.000 

15.00 30.000 
=5D00 10p00 =R 15,000 6.000 2.000 

17.000 s6.000 or 7,000 12.000 
B. Amount which should have been Recorded 

Interest on Capital 12% 
Net Effect (A - B) 

JOURNAL 

6.00012.000 
1,000(Dr) 

18,000 36.000 Date F Amt (Dr) Particulars 
0Incorporation Epense A/c (10,000 x 10) 

Amt (C 
N 1.000 (C) N 

Dr 1.00,000 Goodwill is 3 times average super profit 
To Equity Share Capital Ac 1,00.000 3x Average super profit =7 1800 (Being shares issued to promoters)

Average super profit ={6D00 
Capital invested = Total assets-Outside abtes 

Capital invested =15,00.000-1200000=7 3.00.000 

Sundry Assets AC Dr 3,30,000 
To Mr Rajesh 

3,30,00 
(Being assets purchased from Mr Rajesh) 

Mr Rajesh (30000x 11) 
Normal profit = Capital invested x e 100 

0 
Dr 3,30,000 

To Share Capital A/c (3a000 x 10) 
To Securities Premiurm Reserve A/c (30000 x 1) 

3.00.000 Normal profit =3,00,000 x=30000 
30,000 Super profit =Average profit - Nomal profit 

6,000 Avrage profit-30.000 
(Being shares issued to Mr Rajesh) 

ber of shares issued = 30.000 Average profit = 36.000 
101 

Average proñit =etual protts im last 3 years 
Number of yaars 

36.000Ctual profits in last 3 = 71,08.00o 
Actual profit in last 3 years = 7 1,08.000 
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Bank Accoent 
Particulars C 168 

Raju's Capital Account 

Amt 
37.995 

By 
Balance 

ba 

Amt ( 
Particulars Amt ) 

Particulars Ami ) 120.000 Ey Balance cid 
2 CO 

1 

To Balance b/d 

To 
Nishant's Capital Alc 

To 
Premium (Goodwill) A/c 

391 400 
20. 17 930 Dr 

Sy 
interest 

on 
Capital Ac 

(17.000 x 10% x 3/1 

By 
Maneshs Cap1a 

AC 

By 
Mukesh s Captal Ac 

By 
General 

Resenve AC 

Particulars 400 
331,400 o Raju's Loan Ac 11 69 3.91.400 

Working Note 

calculation of Sacrificing Ratio 

sacnficing ratio = Od share - iew share 379 
37.905 3 5 S-voy 

vishvesh= 101010 Yogesh2-3-4-3 
enficing ratio of Vishwesh and Yogesh= r1:1 

Average profit = 7000+ 30500 23B00 

71400-23.800 
3 

Working Note 

2 Calculation of Hidden Goodwill 

Nishant contributes ? 2.00.000 for th shere 

3 

im's goodwill = 23,800x3 

= 71400 
Total capital of the firm should be = 200p00 0 

Raju's share of goodwil = 71400 x 
=7 1000p00 

aut the actual total capital of Vishvesh, Yogesh (after adjustment cf revaluation locs) and ishant 
t(x 300p00+7 150D00 -3 7DO0, ie loos on revaluation)+7 2.0o.cog- 6.43000 
Therefore, hidden goodWnll =10D0p00-643000 

= 7 17850 

to be contributed by Mahesh and Mukesh in gainirng rato, ie. 21 
Revaluation Account 

21. Particulars Aml Amt 
5.000 By Provision for Doubtful Debts A/c 

Particulars 15.000 =357p00 
20000- z 5000) Nishant's share = 1/5th of 3.57.000= 71400 To Stock Ac 

17,000 

By Loss Transfered to 

Vishvesh's Capital A/c 

Yogesh 's Capital A/c 

To Plant arnd Machinery A/c Or 4,200 
2.800 7,00 Dr Revaluation Account 

22.000 22,000 Particulars Amt R) 
600 By Buiding Alc 

7,200 By Creditors AC 
3.000 By Prepaid Insurance AC 

Particulars Amt 
To Provision for Doubtul Debts A/c 

To Machinery Alc 

To Outstanding Repair A/c 

To Profit Transterred to 

A's Capital A/c 
B's Captal A/c 

C's Capital A/c 

10.000 
1.800 
2.000 

Partners' Capital Account 

Ur Vishvesh Yogesh Nishant 
Nishant Vishvesh Yogesh 

) 
Particulars 

) 
3,00,000 1,50,000 

Particulars (3) ) 
1,500 

By Balance b/d 
1,000 To Revaluation 

Alc (Loss) 4200 2,800 
2,00,000 500 3,000 

To Balance c/d3.31,500 1,82,900 2.00,000 By Bank Alc 
By Premium for 13,.800 13 B00 

35,700 35,7 
3,35,700 1,85,700 2,00,000

Goodwll AC 
Partners Capital Account Cr 

3.35,700 1,85,700 2.00,000 
Particulars A R) B ) C Particulars A R) BR) CR 

.000 To B's Capital A/c 

To Cash A/C 

9,000 90.000 60,000 3,000 By Baiance bid 

By Reserve Alc 
By Revauion Alc (Profit) 

28.500 By A's Capital Alc 
By C's Capital A/c 

Balance Sheet of the New Firm 

as at 1st April, 2019 
9.000 

66,000 
3.000 2,000 1. 

500 1,000 
9.000 
3.000 

94 500 75.000 31.500 

1.500 To B's Loan Ac 

To Balance c/d Liabilities Amt t () Assets Amt () 85.500 

Bills Payable 80,000 Cash at Bank 3,91,400 
94,500 75,000 31500 

45,000 1,50,000 Stock ( 50,000-7 5000) 
20,000 Debtors 

Creditors 
2,00,000 Outstanding Rert 

Capital A/cs (-)Provision for Doubtul Debts 

Prepaid Expenses 
Plant and Machinery 

(5,000) 1,95,000 

10,000 Vishvesh 3,31,5 
1,82,900 
2,00,000 7,14,400 (-) Depreciation 

Yogesh 3,40,000 
(17,000) 3,23,000 

9,64,400 
Nishant 

9,64,400 
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170 Dale Particulars 
LF Amt (Dr Amt Cr 

Share First Call A/c 
To Share Capital Ac (8,000x 1) 

(Being the amount due on first call of 8.000 shares 1 per share as per resolution of the board of directors) 

Balance Sheot 

Dr 8.c00 
as at 31st March, 

2019 

Aml R 

.10.00 
Assets 3.0 

Amt ) 

3,000 Building 
13,800 Debtors 

Liabilities 20,000 
Bank Alc (7.250 x 1) 

To Share First Call AVc 

(Being the amount received on the first call on 7.250 shares 
@1 per share) 
Share Second Call A/c 

To Share Capital A/c (8,000x 1) 
(Being the amount due on second call on 8.000 shares 1per 
share as per resolution of the board of directors) 

(1,000) 7.250 Outstanding Repairs 

Creditor 
Capital Aco 

19.0 
40.800 
2.0 

18.000 
7000 

1,96.800 

-) 
Provision for 

Doublful Debts 

7.250 
Machinery 

5, ,500 
28.500 

1,14.000 Prepaid Insurance 

A 
66,000 Stock 

Cash 
8.000 

B's Loan Ac 8.000 
,96.800 

Bank A/c (6,000 x 1) 
To Share Second Call Ac 

6.C00 
Working Notes 
1Calculation of Gaining Ratio 

Old ratio 3 2 1, New ratio =3 1 

6.000 
(Being the amount receved on the second call on 6.000 shares 

@R1 per share) 
Share Capital A/c (750x5) 

To Forfeited Shares Ac (WN 4) 
To Share Allotment A/c (250 x 1) 
To Share First Call A/c [(500 x 1) + (250 x 1) 
To Share Second Call A/c [(500x 1) (250x 1)] 

(Being 750 shares fofeited as per board's resoluticn) 

Ganing ratio = New share old share 
3.750 Dr 

2.000 

250 
750 

A 12 
Gaining ratio = 3 1 

Calculation of B's Share of Goodwill 750 

B's share of goodwill = 36,000 x=12000, to be contributed by A and C in their gaining ratio, i.e. 3:1. 

Cash Account 

Firm's goodwill = 36000 

6 Working Notes 

1. A holder of 250 equity shares paid only application money. He has not paid allotment money and cal marey 

Therefore, allotment money has been received on 7.750 shares (8000-250)@ 1 each, 1e. ? 7.750 

2. First call money has not been paid by the holder of 250 equity shares and the hoider of 500 equity sharesn 

total, first call money has not been received on 750 equity shares 

Cr 
3 Dr 

Amt () Particulars Amt () Particulars 
9,000 16,000 By B's Capital ANc 

By Balance c/d 
To Balance b/d 7,000 

16,000 
3. Second call money has not been paid by the holder of 250 equity shares, holder of 500 equity shares and 

holder of 1,250 equity shares. In total, second call money has not been receved an 2.000 equity shares 
16,000 

22 JOURNAL Statement Showing Money Received and Not Received 

Particulars LF Amt (Dr) Amt (C) Second Call 1) Date Application 2 Allotment 1) First Call &1) Shares 
Dr b0,000 

Building A/c 
60,000 6,000 

To Vendor Ac 
1,250 

(Being the building purchased) 500 Dr 60,000 Vendor Alc (6000x 10) 
To Share Capital A/c 

(Being the issue of 6,000 shares of R 10 each as fully paid in 

payment of building purchased) 

60,000 250 
Money Received 7.750X 

7,750 
7,250x1 
= 7,250 

750x 1 750 2.000x 1=72000 

000x 1 
= 6000 8000 x 2 

=* 16000 
250 x 1= 250 

Money not Received Bank Ac (8000 x 2) 
To Share Application AAC 

(Being the amount received in respect of application money on 
8,000 shares @R2 per share) 

Dr 16,000 
16,000 

Money received, X-Money not received 

4. Amount Forfeited 

Amt R) 

500 
Share Application A/c 

To Share Capital Ac (8,000 x 2) 
(Being the transter ot application money to share capital account)

0 For 250 equity shares, application money @t2 per equty share 

( For 500 equity shares, application money @t2 per equity share 

and allotment money @1 per equity share 

Dr 16,000 
16,000 1.500 

Chare Allotment A/c 2.000 

O Unless and until the forfeited shares are re-issued, the balance on the toreited shares account will be 

Snown asa separate item in the balance sheet under the heading of share capital. 

Dr 8,000 To Share Capital A/c (8.000 x 1) 
(Being the amount due on allotment of 8,000 shares @1 per share as per resolulion of the b0ard of directors) 
Bank A/c 7750 x 1) (WN 1) 

To Share Allotment Alc 

8,000 

Dr 7,750 7,750 
(Being the amount received on the allotment of 7,750 shares @ per share) 
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2 Amount Transferred to Capital Aeserva 

Amount of share forfeiture 72 

Or 
Number of shares forfeiterd Hmber of share reia 

200 
JOURNAL Amt (Dr Amt (Cn 

LF 

Particulars D 3.00.000 

23. (0)t 4,00,000 
23. OBS profit is 20% ot neot sales, then it will be 29% of COGS3 

Dale 3.00 00 
Bank Ac (150000 x 2) 

To Eguity Share ApplCBr m shares received 
Being 

apphcation money on 1 50 000 shares 
receved @*2 per share) 

Equity Share Application A/c 

To Equity Share Capital Alc (100000 x 2) 

Te Equily Share Alotment Alc 

(Serig application money on 1.00.000 shares 2 per share 

ransterred and on 1.00.000 shares adjusted on 
ajotmieny 

Equty Srare Alotment A/c 

To Equity Share Capital A/c (100000 x 2) 

To Secuntes Premium Reserve A/c (100000 x 3) 

(Being allotment money 
transterred on 1 00.000 shares at t 5 including 

premium olt3 per share) 

Dr 3,00,000 
So. Gross Profit =COGS x25% 

2,00.000 
1,00,000 1,00,000 COGSx 25 

100 
100 100,000x COGS 

25 
Dr 5,00.000 

COGS= 4,00,000 2.00.000 
3,00.00 24. () 4,00,000 

Hint Working Capital = Current Assets -Current Liabilities 

4,00,000 800.000-Current Liabilitios 
Dr 3,99,200 Current Liabilities = 800.000 -4,00,000=7 4,00,000 

Bank A/c Dr 800 

25. (c) Both (a) and (b) 
26.(a) Inflow? 40,000 

Calis-n-Arrears A/c 4,00,000 
To Equity Share Allotment A/c 

(Being allotment money received) 
Hint Proceeds from equity shares 

(-)Redemption of preference shares (@premium) (1.10.000) 
Cash inflow from financing activities 

Dr 6,00,000 1.50.000 
Equity Share First and Final Call Ac 

To Equity Share Capital A/c (1.00,000 x 6) 

Being first and tinal call transfered on 1.00,000 shares 6 per share) 

6,00,0 

40,000 
5,98.800 

1,200 
Dr 

Bank A/c Note Information related to price of equity share will not afect the transaction 
Dr 

Cal's-in-Arears A/c (200x 6) 
TO Equity Share First and Final Call A/c 

(Being first and final call on 1,15.200 shares received) 

27.(6) current assets 

28. long-term borrowings 

29. Cash equivalents are held in the business for meeting short-term cash commitrnents rather than for 

investment. 

6,00,000 

pr 2,000 Equty Share Captal A/c (200 x 10) 

Securties Premium Reserve Ac (200 x 3) 

To Share Forfeited A/c 

Dr 600 
600 

2,000 
30. 

. 
Main Heads Sub-heads 

No Items To Calls-in-Arrears Alc (B00 1200) 
Being shares of Amar forfelted) Contingent Liabilities and To be shown as Notes to 

() 
Dr 1,530 Commitments 

Accounts below the Balance Sheet 
Bank A/c (70 x 9) 

Share Foteited A/c (170 x 1) 

To Equity Share Capital A/c (170 x 10) 
(Beng 170 forteted shares re-issued at ?9 per share fully paid) 

Dr 170 Non-current Liabilities Long-termn orrowingG 
1,700 

0) Fixed Deposits from the Public 
Other Current Aguets 

() Advance Recoverable in Cash Current Assets 

Subecnibed Capital (ehowr 
by way of deduiction) (iv) Forfeited Shares Account 

Shareholders' Funds 

Share Forfeted A/c Dr 340 
To Capital Reserve A/c 340 

(Being profil on forfeted transferred to capital reserve) Or 

Working Notes 

1 Calculation of Amount not Received from Amar 

Step 1 Allotted shares computation = 300 = 200 shares 
Transaction Effect on Debt 
Transaction to Equity Ratio 

Reasons 

Total shareholders' funds are decreased by the amount of profits 

appropriated tor dividend but long-term debts renain unchanged. Upon the 

declaration of dividend by the compary. the profits to the extent o 

dividend declared become a current debt and nence, sharehaiders fund 

are decreased and current liabilnties are increased by Ihe amount of 

dividend declared 

This would decrease the ratio as the snarenoiders tund would increase to 

the extent of capital issued without à suDsequent change in long-term ioan 

150p00 0 Increase 

Step 2 Calculation of Amount not Received 
Amt ) 

Application money already received (300 x 2) 
-)He should pay on application(200 x 2) 

600 

(400) Exoess money 
200 (0) Decrease 

The long-term 
deot will decrease and sharenoiders' fund will increase 

Total long-term debts are decreased, but tota sharehoiders' funds remar 

unchanged 

He should pay on allotment (200x 5) 1,000 (-)Excess money (n) Decrease 
Amount not received (200) 

(v) Decrease 800 
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Comparative 

Stotement 
of Profit and Loss 

Tor the years 
ended 31st Marchi, 

2019 Bnd 2U20 

31st March, 

20190 () 

Worhing Hotes 

Machinery Acovot 
Alolute Change Particulars 

Percentans Chaip r 
Derrea) or Dexne 

Am Particlars 
80 B, Pa ioSae dimazirerh 

B Acmiaed Degrecaon 

31. 31st March, 

2020 

(lrcreau 
To BalarcA bId 

To Prat c See d Maairey A 

(SHaterment d prots ard s) 
To Bank Hlc Pttas 

(Baarcr 1gre) 

Nole 

Particulars No. C B-A 
A racr racrery si 

12159 By 2aerce c 8 40.000 50.000 3.50.000 
3,00.000 

3220 923 000 Revonuo from Operations 

(Sales) 
I Exponses 

Proft cn Sa'e = Sae Prc-bI Vaedertey=740.00-2200 ED0so-200C) =? 8.000 

Accumulated Depreciation Accout 

30.000 2,10,000 1661 1.80.000 Purchase6 of 

Stock-in-trade 2. Dr 
15,000 (5,000) 

Changes in Inventories of 

Stock-in-1rade 

20,000 Particulars At Amt Particulars 
2.500 
2.500 

17 500 
7.500 

2,50.000 

1,00.000 

16 
5 
134 

To Machinery Alc 
(Depreraion on macriney sod) 

2 CC.000 
68 000 

Employees Benelit 

Expenses 
Other Expenses 

15.000 
5,000 

2.20.000 
80,000 

Ey Depreacn Ac 
Szterert d rcft arc icss) 

Cazcrg g 
30,000 
20.000 

Total Expenses C 220 000 
262 59 

To Paanc2 CO 
11Net Profit (I- 1) 263 030 Or 

3.Dr Patents Account 
(0 Inventory Turnover Ratio=C0st ol Hevenue from Operations (Cost of Goods Sold) 

Average Inventory 

6Cost of Revenue from Operations (Cost of Goods Sold) 
8000 

Particulars Amt 7 Particulars Amt 
2.C0.000 550.000y Bark Aic Sae) Eaancing figure) 

40 0CO y Amorczicn Ac 
To Balance b/d 

80000 
Cost of Revenue from Operations =?8,000 6 

= 48,000 
Gross Prolit=25% of 48,000 

= 12,000 

To Profit on Sale of Patents Alc 
(Statement cf profit and los) 

(Given) 

SEETet ci prot ad ess 

By Baanc ca 320.000 

6.00000 6.00.000 

Therefore, Revenue frorn Operations (Sales) = Cost of Revenue fron Operations + Gross Profit 

=7 48,000+? 12,000 

=760,000 

(i) Total Revenue from Operations =750,000 

Gross Prolit=on cost=on sales 
=50.000 = 10,000 

Cost of Revenue from Operations = Net Revenue from Operations - Gross Profit 

=7 60,000-7 10,000= 40.000 

Cost of Revenue from Operatlons = Opening Inventory + Net Purchases -Closing Inventory 
40,000 Opening Inventory+? 30,000-7 6,000 

Opening Inventory= 16,000 

32. Cash Flow from Investing Activities 
for the year ended.. 

Particulars Amt 
Proceeds Irom Sale of Machinery 40.00 
Payment on Purchase of Machinery (WN 1) 

Proceeds from Sale of Patents (WN 3) 
Cash Flow from Inveoting Activities 

(1.20.00) 
2.00,00 
1,20,000 
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